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SANSKRIT
- Paper 1
(Literature)

-

Time Allowed : Three Hours Maximum Marks : 300

INSTRUCTIONS

Candidates should attempt Question Nos. I and 5
which are compulsory, and.any three of the
remaining questions, selecting at least one

question from éach Section.

The number of marks carried by each guestion
is indicated at the end of the question.

Question Nos. 1, 5 and 8 must be answered in
Sanskrit and the remaining questions must be
answered either in Sanskrit or in the medium of
examination specified in the Admission

| Certificate issued to you.

Answers written in Sanskrit must be in -
Devanagari script.
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Section ‘A’

1. (a) a%ﬂ%%mwm%&ﬁum* 1%3=3
' (i) ‘s gfT gaTerRer & Turf Steawr ?
(i) wedafedqar TfasamdaE auie &0

gsr ?
(111) m?qqﬁaﬁ%r%m?m{—
. THAIT 57 grrtafmAT avaf=y |
(b) sretfafdser gemT FaceagEs afff=os:
feraam | 3x4=12

W@%ﬁma@ma—ml

(c) AT TEAY ATRY JWTISATAT IIHT FHIRUTooTE -
gde fawfrfd=medam — 4x5=20
(i) FrEe: fanar O=d |
(i) STATSTH AT FHT0T: |
(iii) 9= 9T AT |
(iv) dfererrsat smaryg ot
. (v) crﬁ%nmmgmﬁﬁﬁ%rl

(d) aﬁ%%mmmﬁmmhmm
Fifgeaary — 5x5=25
(1) THEH
(i1) FTII
(iii) =orarior:
(iv) THATHIT
(v) 9=1=2r
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2. (a) :rmqa%mqaa‘r @Wﬁwmm Hewm-
| dhaw gEh: o | 30
(b) aﬁﬁm:rm festwam: fasd=amr L 30

3. (a) AT QUL T JAET SaeaTey
wa fafasaarg | - 30
(b) %amaﬁﬁ—qm%ﬁ?aﬁamfﬁ%ﬁamr'

4. (a) ﬂaﬁﬁwﬁqwmaﬁmﬁwiﬁv{i

30
(b) weafag mqﬁaﬁra*: ATIERTET gHTET
ey | 30

: | Section ‘B’
5, aﬁ%ﬁaﬁgﬁwmm 175 sregaffaet ~
fAeret depayaT Saamdet: fream — 30430

Write two essays in about 175 words each in Sanskrit
.- on any two of the following topics using Devanagarl
script.

(a) QTWT%%E?WEP[W AT |

(b) s Ry exaveraeamar: giRFgeear |
(c) SHATSHAHTEII qHHTAT | |

(d) T g=rha famag -
6. (a) FTUTAIHHT FHEATT HERITOT AT eN@IE

(b) TERURIagSaT | GOISFEEaTATT: aferseay
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7. (a) mﬁmmﬁgﬁw

T Y= fafesan | _ 30
(b) TTEATRT YR] ATAT: Faai 7 gfogarn — a==y
uag faardany | 30

8. zmnforfad me=sf arhfAasr afdar wesgmT 9| T
T IS ar | 10x6=60

Answer the questions in Sanskrit on the basis of the
passage given below :

-wierfag a4 waenr 9w e ufdaafa =
st iR 908 NSRS, I
STaTedta & | srdehaT 84 awET Hfearergae 9
— wrta ! e aftieasaerasraesmor 7 g
qyAT 99 grEfgEdr shisegiy: gafer @l o 9q
feraameTiin: ge auge: | s gyt gamafaes
e A 9y 9Tt gwE aRsfa | OF a9
Wmmmlmﬁwaﬁ—ﬁﬁ
=1 |

Y AWT T, AT ATEh: TIeha T — aaafafed
AR | "l FEAEenT | Uy AATE eSS E
srerrd afe sarfag wtag oymtr=e a€ aaiq ar
afieT aafag wyRfesa siearfd | sty § ovasads
gfesa aafaer wahes 9 aaEH Y duad: Fatsq e

e | | -
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- I gy s fagaaay |

g A s & w39 wHTREAT |

@ fafs=a a=<g g =foa: g fGea=y fdead
gaatesd: | wTaeasEnditdrsst fe:, fBesa
AR e Fad ggr @ IS — Faed
faer=mrsfE ? snetssEl — ¥ | AT | .
TEREANTS=e iy e sag ga: | g
IRTAATT 199 T @i waa Faafagarmarsian
AT (8 THRITNE — @K AT 1T T GLHAT
foredifa | oo s amiaiRasdss ™R 99
. e srefaq )| Frofaset argesfy ok a
THTA: Fusiel sergfafersaaik o aoe ma: |

(a) Eﬁrszimgraﬁ: ? | g aEad ? = Y
(by T aerET fHforarar g 7

- (©) W@W%@im'?

(d) TNTEET IR THTETY A 5% ey ?
(e) rereR: frerg faemammae & sronTasiag ?
H e svazs T [

-y
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